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| Section B: (10 points) Lid Gl (8 LYY & i) e 5
1) A: Circle the correct option to complete the sentences.

1. They can try, but I'm sure they ( may not/won’t) succeed .

2. Tcan’t be sure, but this idea ( will / will probably ) solve the problem..

3. He’s walking towards the supermarket. I think he’s ( going to buy / buying ) something.

(3 points)

B: Correct the mistakes: (2 points)
1. What are you thinking the reason for her absence 1s?  .................................
2. I must remember posting this letter while 'm intown. ..............................

(3 points)

2) A: Add question tags:
1. He's never read any of my poems, ........................7
2. You won't go there again, ......................L T
3. My sister’s friends are coming to visit her soon, ........................ ?

B: Rewrite the sentences, replacing the underlined part with a causative structure:

( have + object + past participle ) (2 points)
1. You should ask someone to check the letter before you send it.
2. He took his car to the garage and paid them to repair it.
3) A: Report the questions: (3 points)
1. What kind of services does your restaurant provide?
Lasked them ...
2. s your uncle the owner of this company?
She asked her COUSIN ...t
3. How long have you had this car?
Tasked My QUN ...t
B : Rewrite the following using the words in brackets: (2 points)
1. Ididn’t accept the offer of a high- paid job . (1/regret)
2. She didn’t receive an invitation for such a festival ( she / wishes )

WRITING: (15 points)
A. Modern communication technology can be an advantage when it improves life, but a real
danger when it becomes life. Write an essay about the advantages and disadvantages of
modern communication technology.

Make use of the following ideas :
* Introduce your idea * Benetits of modern communication technology

* Potential dangers * Your own conclusion

OR:
B. * Wherever you go becomes a part of you ™ . Write about ’What makes people travel and

live abroad?”’
e What benefits could people get from travelling abroad? .

e What difficulties may expatriates have?
e Your own opinion

BEST REGARDS
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4. Fill in the spaces with suitable prepositions from the box . (5 points)
into - off - up - with - on
1. He wasn't satisfied ........... my work, so he asked someone else to do the task.
2. We're planning to visit your country. Will you putus............. in your flat?
3. Iran......... Judy in the corridor a few minutes ago , but we didn’t have time to talk.
4. Idon’t think it was a mere slip of the tongue. She said it .................. purpose
5. Please fasten your seatbelts. The plane will take....... in a few minutes.
5. Choose the correct answer: (5 points)
1 Yourjob ( prospects/ application) will be better if you get more training courses.
2 You need to do market ( value / research) to find out if people will buy your product.
3 The ( break down / breakdown) of communication caused all this misunderstanding.
4 Luckily, the guests didn't arrive early, so I was (in time/ on time) to get dressed.
S Thanks to modern technology, it helps us ( catch up / keep in touch) with relatives and
friends.
Language (20 points)
| Section A: (10 points ) Bk (ol g 08 Aula¥) & adkall o g Alid 3 o el 138 (150 |
1) A: Complete the sentences with the correct tense of the verbs in brackets: (3 points)
1. Tonly started this book yesterdayand I ................... 150 pages so far.  (read)
2. When I arrived at the airport, [ realized that I ........................ my passport. ( forget)
3. I've gotacomputer,butl ... it quite often. ( not / use)
B: Rewrite the sentences using the words in brackets . (2 points)
1. The bell rang. We stopped working and left the building. (as soon as)
2. I was working. I asked him to come back later. ( because )
2) A: Complete the sentences with the infinitive or —ing form of the verb in brackets (3 points)
1. We were all hungry. so we stopped ................. a meal . ( have)
2. If I had the chance, I would like ................ in the countryside. (live)
3. I'll call you back as soonas I finish .................. the report. ( write )
B: Write full questions: (2 points)
1 How often/ she / call
9
2 you/ever/be/to the US
o

3) A: Complete the sentences with the past form of the modals in the box +the verb in brackets:
(3 points)

| must - could - should J
1. Heissmiling. He ... ( pass ) his exams.
2. There was no need to do the work late. We ... ( finish ) the job this morning .
3. Iknew he’d forget about the meeting, you . ... ( remind )him .
B: Rewrite the following beginning with the given words: (2 points)

1. It's not a good idea to wait too long before deciding.
He warned against

2. It would be better to spend more money on developing your new product.
My father advised
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3) Complete the diagram from the text. (S points)

[ To understand the market , you need to work out both ]

C e D 2
< > <_ information you >

need

N7
@ [ How to get information ]
................................................... ] i

4) Choose the correct answer : (3 points)
[. To ‘“wear alot of different hats ‘ means
a. have many responsibilities b. get good returns
2. To get into the right direction, you have to follow your
a. mind b. passion
5) Write what the following pronouns refer to: (3 points)
o their ... * they o
Vocabulary (20 points)
| Jaih Alicd (4) 08 s of ikl o g Abicd (5) (o peidlh 130 01580 |
1. Match the words from the box with their meanings below: (5 points)
controversial error humanitarian amateur hub
1. causing a lot of argument .................. 3. not professional ...
2. mistake ...l 4. concerned with helping people

5. central point......................
2. Complete the sentences with words from the box: (5 points)
l committed stuck currently outweigh straight
Wewere ................. at the airport for twelve hours because of the bad weather.
There are some problems with the idea, but I think the advantages ..................... them.
Instead of going to the library after school, he went ........................ home.
He never stops trying because he is fully ................ to the career he’s chosen.

ok W —

Heis ....ooooieiiiiin, working for an oil company, but is trying to get a different job.

3. Complete the sentences using the words in the box with ( co, mis , under ., over ) (5 points)
rated lead heard founded charges ]

Yahoowas .................... by college students Jerry Yang and David Filo.

. His last essay was an attemptto .................. the public. I don’t think he was honest.

. Despite being a good player, he was always .................. by his manager.

...,‘"/

1
2
3. Hewusually .................. his customers for car repairs. They never cost as much as he says.
4
5

err T

. I’m sure I didn’t say that. Youmust have ............................ me. 2
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2. Why are young people becoming less concerned about the environment?

-
B e
6: Write what the following pronouns refer to: (2 points)
I. they oo 2. This ...

2) Read the text and do the tasks below : (20 points)

Starting a small business is a massive but rewarding undertaking. Part of starting a small business is doing
things in a way that makes the most sense to you, but a little guidance can help as well. Consider these tips for
starting your own company and incorporate them as needed:

......... While you’ll have to wear a lot of different hats, especially during the business’s earliest stages, don’t
place too much of a burden on yourself for too long. Develop a strong understanding of your skills and
weaknesses so you know where to best focus your attention. Don’t be afraid to learn how to handle new
responsibilities and workloads —_it’s essentially a requirement for growing small businesses and getting things
better.

............. Understanding the existing market involves that you should identify and work out your target
customers as well as your potential competitors. Defining your target audience implies that you should follow
their needs. Often, your target audience analysis will be based on specific factors and essential information
like location, age, income, gender ( male or female ) and so on via surveys, interviews or social listening. Not
less importantly, never neglect the presence of potential competitors. To move your idea in the right
direction, you have to look at their performance, what they offer, and what they don’t offer. Such information
can be casily obtained by visiting their stores, following their websites and marketing materials.

........... Even when a business is on the right track, unexpected issues and chances for growth and
improvement can quickly pop up. Listen to what others have to say—friends, family, experts, even yourself.
When you tell people about your startup, read their body language. Do they like the idea? Or, are they just
being nice and really think you’re going in the wrong direction? Don’t ignore the power of advice from
experts and veteran business owners. These folks know exactly what does and doesn’t work. Smart
entrepreneurs learn from the mistakes other business owners have made.

........... One of the most important ingredients in a successful business idea is passion. This will consistently
drive you to improve your process so your business grows. Nevertheless, don’t let passion take over all your
decisions. As your business starts to come together, think of it like driving a car. Let your passion hit the gas
pedal and your mind control the steering wheel. Passion will move you forward, but knowledge will point you

in the right direction.

1) Match the headings with the suitable paragraphs : (4 points)
A: Balance passion with wisdom B: Understand the market
C: Recognize your strengths and weaknesses D:  Getadvice

2) Answer the questions : (5 points)

1. Why is it necessary to recognize your strengths and weaknesses?
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Reading (45 points)

1) Read the text and do the tasks below: (25points)

The results of a new poll show that financial problems have taken over from the environment as the main
concern for young people. The survey asked 12.000 people aged between 14 and 18 what they were most
worried about. The clear winner was "finding a job", while the environment was only the seventh greatest
worry. This compares with similar polls in the last fifteen years, when environmental worries came first. One
of the poll's organizers commented that the results demonstrated a clear change in attitude. " It's not just that
getting a job is the main worry," he said. "Also included in the top six worries were getting into debt (6™) and
passing exams (4).

I'm convinced that there's a connection. Because of changes in the job market, there is more and more
pressure on young people nowadays to pass exams and go on to university in the hope of finding a good job.
And rising university fees make it inevitable that many students graduate from university with huge debts.
Other concerns mentioned by large numbers of young people also tended to be personal rather than social,
including worries about relationships (2"%), health(3*) and fitting in with peers(4"=).

Annette Coleman, director of the Green Earth organization, said yesterday that she was disappointed, but not
surprised, at the fall in the number of young people concerned about the environment. 'It's not that the
environmental concerns are less urgent than before — quite the opposite in fact. It's just that after decades of
publicity on topics like climate change, so little has actually changed. A lot of people get the feeling that
there's nothing we can do about it, and young people in particular tend to be impatient. Of course, the other
thing is that in times of economic difficulty people are more likely to focus on worries that are more
immediate and have an impact on their daily lives.

1: Complete the table with information about the new poll: (4 points)
How many people did it ask?

What age group did it ask?

What did it ask?

What did the results mainly show?
2: Put the results of the new poll about young people's concerns in order according to the text:

(7 points)

2 3 R 4o

6 T
3: Decide whether each of the followings is TRUE (T) or FALSE (F): (4 points)
1-The new poll results show that young people’s priorities have widely changed from the past. ()
2- Because of their rising fees, many young people leave universities before they graduate. C )
3-For many young people, personal concerns are more important than social ones. ( )
4- Nowadays, environmental concerns are not as urgent as they used to be in the past. ()
4: Complete the following: (5 points)
l- concerns were the main worry for young people in the last 15 years.
2- Young people’s financial concerns and pressures are increasing due to changesin ...................
3- The text mentions some personal concerns like .................o and ..............
5: Answer the following questions: (3 points)

1. Why is it important for young people to pass exams and go to university?
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